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If so, why do we need Seh — Y% b W 9on ON

OVERVIEW

We are now assuming that the two 0°995 are X¥n77 and Xx¥nn, the 2°079 are 7 MW
7w and 0»n. The Xn3 asserts that (since we know 1"va from the v19 of o»n)' the
v of MW includes N2 1D PvO0NT 127, the v of 7N teaches us that 993 is
limited to a >0n7 7127, but why did the 770 need to add the v5 of 7w; what does
it teach us? M»dOIN elaborates on this difficulty with the 2"1913.

mooIn anticipates a difficulty:
=99 1Y DY MY MMYPNRY 281 "N

The X723 could have asked why we need 212 and 7@ (not only 7w); Mmoo explains

why 7 is also superfluous -
— 20N Y9¥3 INYT 199N 927 Y 135391 TINT ONT VIDN PYINT

For from the 'v1577 1°w2' of 217 alone we would have included everything even
non-1''va, so what does "W add?

mooIn responds:
1059 ‘0n%vY N1 NNa Yax *an VP PYUNRI XINY 91V 1937 DINNN XINHNY 290

But because the X9%» began his discussion with 2w, which is the first v1»
enumerated in the P09, therefore he mentions the question in this manner (only
on 11¥); however truthfully both 7 and 7w are superfluous.

SUMMARY
Two 2179 are superfluous.

THINKING IT OVER
Can we answer that one v19 (Mn) includes a 2>d” 727 by a non-1"v2 and the

! This is true even if 27 (as a vId) is not inserted between the two %%, for o»n means all n"va.
* See the marginal comment which states: 95 ¥awn 1%y ¥I92 KA BIDT PYD M2 2 719 XIN2 K995 19 K> axT. This
means that we cannot expound the 3"1913 (with the v of a»n) to include only 11"y, for then there is no need for a
2"912, a simple 5™ (like om Xxn7) would also teach us to include all 1"va. Therefore we must conclude, since the
770 wrote an additional final %2> that from the v1977 PY> of 01 we include everything. See ‘Thinking it over’ # 2.
? The X when it was inserting the 0°995 began with W (which is the first v19 in the P109), and stated that W
teaches us 121 Pv2unn 127 (it cannot be limited to n"va, for that we already know from o), the next v of 2van
teaches regarding a o>oni7 127, leaving 7w superfluous. However if we would start with 011 and argue that this is
927 92 1271 (see footnote # 2), and Man teaches 0>10n7 727, that would leave both 7w 7w superfluous.
* Moo means that two 0°07D are superfluous; from 0>n we know 127 93 (see footnote # 2) and from one other v
(either 7 , 7w or w) we derive 01omi7 727, and the remaining two 0’019 are superfluous.
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other v19 (M) includes a 210n 127 by a 1"v3; so only 7w is superfluous?’

2. Moo writes that from a»n alone we can derive 727 2 even non-n1"va.° The xm3
(previously on this 71Y) states that from 7MW we know non-11"v3, for the word 2>
alone teaches us n"va. However, according to n1501n the word 211 alone teaches
non-n"y3, without Mw!’

3 See (1"7¥ in) TMYNA WO MWK # 62.
® See footnote # 2.

" See mwn noma.
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